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GHEANEET) R84 48 1R Rk
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L €4 A 7 X 3 L z4 LIRS 7 I 3 HT g4 HEHF AL 7 I 3 H] HE 7 X En

FRAERT 96 104 115 219| Frn FH BT 166 156 157 313|%kET— T H 263 248 187 435 R CHHHT 252 296 309 605
ARYHT 196 190 213 403 IHTHN 12,013| 11,663| 12,737| 24, 400[#kHT T H 153 151 114 265 |/ AFEMT 585 714 813 1,527
JELET 428 408 466 874 FRET =T H 126 136 112 248 KEHX 3,442|  4,194|  4,374| 8,568
T 562 602 619 1,221k EHT 235 256 281 537[%KHTPY T H 69 53 51 104
b S HT 324 313 340 653| BRIFHT 3,613 3,876 3,940 7,816 ANHFHLX 9,615 10,309  9,948| 20, 257 Fa[ A LHT 339 437 455 892
T 267 231 239 470 FRAArHT 182 197 222 419 A HmT 199 273 301 574
)1 HT 123 120 126 246 75 FHIT 521 514 532 1, 046 Hr{RHT 1,154 1,469 1,520 2, 9893k — T H 578 637 734 1,371
KAGHT 591 564 579 1, 143|{IAHT 3,609 3,909  4,046| 7, 955|H{f M fHET 358 400 440 8404k LT — T H 232 262 275 537
SR HT 17 13 16 29] H iR T 3,243 3,555 3,607 7, 162|HEHT 1,635 1,722] 1,879 3, 601|H/NEHT 630 744 776 1,520
SRS HT 52 45 57 102|207 582 640 635 1,275( H T 1,016| 1,215 1,182  2,397|Li4HT 1,499 1,863 2,003 3,866
EeviilsElng 209 223 269 492 &5 BAHT 1,343 1,532 1,608] 3,140 #Hr&RHX 4,163 4,806 5,021 9,827 mE/\IEH1IX 3,477) 4,216 4,544 8,760
AeiEsT 78 66 60 126 KAy 143 147 162 309
JUTRHT 204 204 231 435( H JEHT 356 435 510 945 | H- B HT 2,720 2,887  3,148| 6, 035| A EHT 473 489 552 1,041
HHHT 154 114 99 213 HERAT—T H 344 390 397 787| K J\AHT 1,114 1,276| 1,222 2, 498| FEIFHT 280 354 367 721
AT 77 60 80 L40| BLERHT T H 440 490 459 949 /N J\AHT 1,202 1,433 1,404 2, 837|=HrHHET 752 832 860 1, 692
FFIHE— T B 148 143 170 313 ERET =T H 449 543 501 1, 044 IEAL=FHT 431 515 552 1, 067 | B HLHT 200 255 248 503
TRHEET T H 123 142 135 277 R ERHETIY T H 321 372 425 T97|[EEETE — T H 28 26 20 46| JHmy 1,083 1,341 1,425 2, 766
FFET =T B 120 129 131 260 ERIR MK 15,381 16,856| 17,325 34, 181|RIEHTVE T H 96 97 86 183|#f MY 636 817 833| 1,650
TRTEETE T H 143 168 176 344 fEIT— T H 327 237 352 589| & s HhiX 3,424 4,088 4,285 8,373
FFIHETH T H 19 13 8 214 R ET 3, 666 4,026| 4,218 8, 244|MEET T H 38 37 32 69
B Fnmy 431 420 484 904| AT — T H 260 285 322 607| M EET =T H 14 12 14 26| A Br T 5, 550 6,289 6,445 12,734
5 LT 26 21 23 44| FFIET T H 576 631 705 1, 336|HEATIU T H 123 131 120 251|'= JEHT 203 288 318 606
ELHT 165 170 192 362| A BT =T H 870 889 958 1, 847| iR HT 1,917| 2,175 2,321 4,496 AEEHX 5,753|  6,577| 6,763 13,340
BT 35 24 33 57| <FREHT 1, 669 1,765 1,887  3,652| HJI[HiX 8,010/  8,826| 9,271 18,097
HTHIBT 185 158 180 338 FEFHHHT 1,453 1,514 1,579 3,093 KIRAT 396 484 534 1,018
EA 485 486 534 1, 020|824 HT 192 198 215 413 AT 482 493 596 1, 089 5T H W 495 591 586| 1,177
RO T 35 23 32 55|\ FRET—TH 474 502 523 1, 025 &IlIFFET 2,233 2,449  2,463| 4, 912| & EFHT 605 730 701 1,431
fEEHT 85 70 79 L49| )\ FRHT =T H 353 336 390 726| TR HT 231 289 317 606| Pt j=5 1T 133 145 137 282
HEAHT 40 41 49 90|\ TARET =T H 458 485 541 1, 026 & g HT 1,041 1,158 1,222| 2, 380|#kJEHT 532 711 718 1,429
HH ] 266 239 242 481\ FARHETIY T H 372 429 457 886 | HRIEHT 530 627 613 1, 240 %% =5 WY 371 443 393 836
HHT 167 162 175 337 MK 10,343| 11,060 11,795 22, 855|HT EHT 375 369 466 835 7T e 44 BT 506 637 645| 1,282
P HT 605 620 647 1,267 NI T 2,212 2,670 2,751 5,421 s EHIX 3,038 3,741 3,714 7,455
ERAET 26 26 22 48| A EpET 2,264 2,543 2,643 5, 186|#5 HIHT 136 175 180 355
i LLIT 519 514 567| 1, 081|{=BFENT 39 36 42 78] J\iEHX 7,240| 8,230 8,608 16, 838 LuEHT 251 335 344 679
HRHT 23 27 25 52| k. ERT 3,501 3,805  3,767| 17,572 TERERHT 134 179 178 357
5 LT 187 175 180 355| AL A HERT 349 401 457 858 |- i T 1,214 1,422 1,455 2,877 F 75 HHT 148 206 201 407
JEmT 165 172 166 338| 22 HT 706 697 728 1, 425 T[] W 1,812 2,097| 2,152 4, 249| FiEHT 375 481 471 952
T 368 348 392 T40| T BpHT 1,180 1,432 1,422 2, 854|H & kT 815 926/ 1,000 1, 926 1 51T 301 434 406 840
R R T 33 30 35 65| T 2T 1,467 1,804 1,798 3, 602|dL/AfRHT 418 459 504 963 VL FHT 380 437 416 853
AT 1, 552 1,558| 1,748 3, 306| F H1)EHT 989 1,182 1,197 2,379 M 4,259 4,904|  5,111| 10, 015|/\iF/FHT 341 463 456 919
i HH T 193 186 210 396 Hi 14 PHHT 398 476 470 946 T ) | 1 (X 1,930 2,535 2,472| 5,007
FauT 130 122 146 268 1 JEHT— T H 514 594 560 1, 154 iy 469 583 600 1,183
RN 171 146 168 314|FERT =T H 1,422 1,428 1,678 3, 106) 45 HulT 453 589 598 1, 187| AHINT =/ & 464 608 576 1,184
faprli) 193 197 240 437\ JEHT =T H 632 696 761 1, 457| L T 160 199 196 395| BT 4 413 510 504 1,014
N 180 155 171 326| HEHTIN T H 648 722 745 1, 467|417 JJHT 131 173 180 353| AHINT KA 166 219 216 435
JEAH T 115 89 65 154 WHERT 837 941 985 1, 92611 HT 1,147 1,398 1,477 2, 875| B HIET A K 111 141 161 302
AN=10) 333 356 411 767|FnHH Z T 586 631 566 1, 197|/ Hri mr 361 441 474 9L5| A AINT )1 325 377 401 778
)BT 241 192 231 423(  PEBFHIIX 15,532| 17,388| 17,819 35, 207[3RHHT 440 525 542 1,067 A 1,479 1,855 1,858 3,713
Ly 110 104 101 205 Frldmy 244 316 330 646
= HT 87 76 97 173| L/ B HT 775 857 954 1,811 EEFHX 3,405 4,224  4,397| 8, 621|FEHRBTVEH R 714 877 927| 1,804
DU T 36 38 36 74( b/ hggaT 468 571 628 1,199 FERHT SO 88 106 119 225
AT 43 48 45 93| LA T 2,822 2,930 2,678 5, 608| L AHHIT 1,241 1, 409 1,429 2, B38| EABHT F2r .2 IR 323 215 193 408
FETEIT 72 75 63 138| T/ sy 2,133 2,250/ 2,180 4, 430|715 JAEHT 302 390 404 T4\ FEHRIT J 5 956 1,229 1, 304 2,533
SHAEHT 244 257 296 553| /NS HT 1,480 1,577 1,519 3, 096 LI HT 633 845 860 1, T05| ZHRHT HUHH = 400 517 536 1,053
A RA T 370 330 366 696 HLAHET 1, 326 1,536 1,525 3, 061] FIJEHT 429 540 559 1, 099) ZE4pHT R 1,318 1,616 1,674 3, 290
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GHEANEET) R84 48 1HMERL
. A m) s A =] s A =] ., A m]
g % LSS 7 i 3 Ly 4 LS 7 I En Lo 4 LS 7 i 3 iy 4 4 7 = 7
T E 753 969|  1,017| 1,986 HAT/IMN 144 206 201 407
BT 5 ] 327 485 485 970 & HHT F L 215 298 292 590
LM 208 273 254 527| & FHT A 458 625 588 1,213
FEHmTFD (L 156 199 213 412| FHFHTH 282 357 338 695
FERRET )1 427 526 558 1, 084 & M7 558 766 733 1,499
FEHmT v iy 6 5 7 12| & 0T % H 402 537 561 1,098
FEBET FIARR 870| 1,195  1,194| 2, 389| R HMT L 97 139 147 286
FEARIT AR R 1, 598 1,971 2,086| 4, 057|7 HHTE 31 42 42 84
PSR X 8,144 10,183| 10,567 20, 750|75 H:MT R 304 424 422 846
I 229 191 238 429
oL 3,472 4,346 4,457  8,803|EHATHA 38 54 53 107
SEFHET 1, 551 1,884 2,023 3, 907| & AT AR 11 10 15 25
ElliiLug 496 678 732| 1,410 FEHAT SR 384 511 494 1,005
i73ELa) 190 236 244 480| F FERTIRIR 41 60 67 127
Fiti i 5 W] 260 290 281 571 7 HMT A 4o 128 180 161 341
3 7KHET 93 129 130 269| HIFHTH 139 200 202 402
% JE[RIHT 71 98 105 203| T/ N 343 441 451 892
HE S HT 211 297 317 614| & JFHT HAE 116 157 174 331
PYIE Sy HT 237 326 336 662 T I 170 210 211 421
AL ET 393 422 425 847| 7 HEWT/NEE 206 296 279 575
T 3,222 4,112| 4,097 8, 209| HEHTEE FE 569 753 718 1,471
HAHT 1,336 1,646 1,654 3, 300| HIHMTFEM G — T B 325 372 395 767
= T 763 995 995 1, 990| FH MR T H 369 435 477 912
R 1,387 1,607| 1,596| 3, 203|FHHETEIBAE=TH 275 380 365 745
T 1,218 1,445  1,493| 2, 938| R HETILIE 301 397 416 813
Hh LT 419 522 563| 1, 085| 7 HMT T HE 97 127 137 264
PR HET 621 829 805 1, 634| & HHT [ B 134 191 178 369
FEHHT 503 603 652| 1,255 FHMTH O 57 78 82 160
THE G X 16,443| 20,465 20,905 41,370 FHH:HIX 9,436 12,168 12,306 24,474
BT 5,518/  6,101| 6,268 12,369
T Hi X 5,518/ 6,101| 6,268 12,369
TFER T 1,160 1,438 1,503 2,941
= HH ET 917 869 1,019 1,888
SR T 459 587 572| 1,159
B4 (LT 94 56 82 138
AT 42 34 55 89
R EHT 368 543 539| 1,082
L RLIT 935 1,192 1,246 2,438
H LRI 688 892 905/ 1,797
- E AT 997|  1,261| 1,264] 2,525
AHBHT 856 1,116]  1,132] 2,248
e T 699 900 944| 1,844
T 169 226 231 457
+ 35T 188 242 248 490
B RET 334 457 441 898
LY R HET 111 125 130 255
HFHT 118 158 151 309
E 8,135 10,096/ 10,462| 20,558
EHIHTE IR 638 746 787 1,533
TS IR 1,153 1,352| 1,379 2,731
HIH] N RAR 238 317 333 650
2 I RAR 984 1,316 1,370] 2,686 WA F 160, 180| 184, 485| 190, 550| 375, 035






